Chapter 9 Differential Equations

EXERCISE 9.1

Question 1:
4
y £ "
. . ) . . - +sin ( v ) =)
Determine order and degree (if defined) of differential equation dx .

a_
afx‘r +sin (y’") =

= " +sin(y")=0

=

Highest order derivative in the differential equation is »"" . Its order is four.
Differential equation is not a polynomial equation in its derivatives. Its degree is not defined.

Question 2:

Determine order and degree (if defined) of differential equation »'+5y =0,

Yy +5y=0
Highest order derivative in the differential equation is »". Its order in one.

It is a polynomial equation in »'. Highest power ¥’ is 1. Its degree is one.

Question 3:
Ay 2
| | S e
Determine order and degree (if defined) of differential equation \ df dt .
u 4 i \

[é] +35L8-0

dt dt*
Highest order derivative in the given differential equation is dt* . Its order is two.

d’s ds

It is a polynomial equation in d¢* and dr .

d’s
The power di* s 1. Degree is one.
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Question 4:

d’y ] _ [ dy ]
+cos| — (=0
Determine order and degree (if defined) of differential equation ( dx* dx.

0

dyY _[dv]

= | +cos| =

dx dx
d’y

Highest order derivative in the given differential equation is dx* . Order is 2.
Given differential equation is not a polynomial equation in its derivatives. Degree is not
defined.

Question 5:

2
¢ y} =¢o0s3x +sin3x

Determine order and degree (if defined) of differential equation ( dx’

3

d*y Y .
2 =cos3x—+sm3x
dx”

:(d EJ —cos3x—sin3x=0

dx®
d’y
Highest order derivative in the given differential equation is dx’ . Its order is two.
d’y
It is a polynomial equation in dx* and the power is 1. Its degree is 1.

Question 6:

L 2 L 3 r 4
Determine order and degree (if defined) of differential equation ")+ +(¥) +y° =0

(") +(") +() +y7 =0

Highest order derivative present in the differential equation is »" . Its order is three.
Given differential equation is a polynomial equation in »",»" and »'.

Highest power raised to »" is 2. Its degree is 2.


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

Question 7:

Determine order and degree (if defined) of differential equation »" +2y"+)'=0,

Y"+2y"+3y'=0
Highest order derivative present in the differential equation is »" . Its order is 3.
It is a polynomial equation in »",»" and »'. The highest power »" is 1. Its degree is 1.

Question 8:
Determine order and degree (if defined) of differential equationy'+y =¢.

y+y=é
=y +y—e=0
Highest order derivative present in the differential equation is »'. Its order is one.

Given differential equation is a polynomial equation in »" and the highest power is one. Its
degree is one.

Question 9:

" 2
Determine order and degree (if defined) of differential equation Y + (») +2y=0

y"+(y')2 +2y=0
Highest order derivative present in the differential equation is " . Its order is two.

Given differential equation is a polynomial equation in ¥" and ', the highest power »" is one.
Its degree is one.

Question 10:
Determine order and degree (if defined) of differential equation »"+2)"+siny =0,

Y'+2y'+siny=0
Highest order derivative present in the differential equation is ¥" . Its order is two.

This is a polynomial equation in ¥" and ' the highest power " is one. Its degree is one.
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Question 11:

[d y] [—yJ +sm[ yj+1:0
The degree of the differential equation dx’ dx dx is

(A)3 (B)2 O 1 (D) not defined

Q +[d_y +sin -@jﬂz{}
dx” dx dx

Differential equation is not a polynomial equation in its derivatives. Its degree is not defined.
Thus, the Correct option is D.

Question 12:

,d 3d -0
dx .

The order of the differential equation

(A)2 B)1 ©)o0 (D) not defined

1d2 d}

T

=0

d’y
Highest order derivative present in the given differential equation is dx’ . Its order is two.
Thus, the correct option is A.
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EXERCISE 9.2

Question 1:
Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

y=e" +1 : y'=y'=0
y=¢e +1

Y 4 (1)

dx dx

=y =g’ (1)
Ty

:>y”:e'v (2)

From (1) and (2)
},#_-l"fzef _e.t
=0

Thus, the given function is the solution of corresponding differential equation.

Question 2:
Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

y=x’+2x+c : y'-2x-2=0

y=x"4+2x+c

d
f=—oI(x"+2x+c
> dx( )

=>y'=2x+2

Therefore,
Yy =2x-2=2x+2-2x-2
=0

Thus, the given function is the solution of the differential equation.
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Question 3:
Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

y=cosx+C ;. Y +sinx=0

y=cosx+C
d
'=—(cosx+C
s g )
= y'=—sinx
Therefore,

' +sinx=-sinx+sinx
=0

Thus, the given function is the solution of the differential equation.

Question 4:
Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

y=v1+x’ = xyz
1+ x

_ Xy
1+x2

Thus, the given function is the solution of the differential equation.
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Question 5:
Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

y=Ax : ,xy'zy(x#())
yv=Ax
d
n‘:_"-A
Y
= A4
Therefore,
xy' = x4
=¥
=¥

Thus, the given function is the solution of the differential equation.

Question 6:
Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

y=xsinx I A TR N s T (x#[landx>y)orx<—y

y=xsinx

y'= %(xsin X)

=sin x.%(x)+x.%(sin x)

=S8INnX+XxXCcosx

Therefore,
xy' = x(sinx+xcosx)

p 2
=XxSimmx+Xx COsx

= y+x*A/1—sin® x

2

=y+:!c2 l—(i)
X

> 2
= y—|— Xalx™ — y“
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Thus, the given function is the solution of the differential equation.

Question 7:
Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

J22

1—xy

xy=logy+C : y'= (xy#1)

xy=logy+C

d d
= — =—/(lo
cir(xy) c;bc( gy)

d d& 1dy
= y—(x)+x.==—"2

o LAt y d
= y+xy'=—

1
y.
:'v2+wr=.vr

Thus, the given function is the solution of the differential equation.

Question 8:
Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

y—cosy=x : (ysiny+cosy+x)y' =y

y—cosy=x

ﬁf—;—%(cosy)=%(x}

:y'—(—siny).y'=l
= y'(1+siny)=1
|

Y
I+siny

Therefore,
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(ysiny+cosy+x)y'=(ysiny+cosy+y—cosy)x—
I+siny

e
plesiny) I +simy

=Yy

Thus, the given function is the solution of the differential equation.

Question 9:
Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

x+y=tan'y Yy +yP+1=0

X+y= tan™' y

1

= %(x+ y)z %(tan' y)

|
:HW':LH’Z};

= X7 ! —I} 1
l+y
1+ )7
N g)]_,
1+ y°
I
=g y2i|:1
[ 1+y
—(I+y2)
=S 5
Yy
Therefore,
PV y'+yi+l= { gt y)} +y*+1
"'}
=—1—y*+y*+1
=0

Thus, the given function is the solution of the differential equation.

Question 10:
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Verify that the given function (explicit or implicit) is a solution of the corresponding
differential equation:

y= az—xzxe(—a,a) ! x+y%=0(y¢0)

y= (2 —

£ 4V

dv  dx
S
dx  2\Jat-x' dx
dy 1
— = (-2
:>a’x 2\/a2—x2( Y)
&__ X

dx a2 _xl

Therefore,

d 3 ~3
x+y—y:JC+ az—xzxﬁ
dx Na —x

=X—X
=0

Thus, the given function is the solution of the differential equation.

Question 11:
The numbers of arbitrary constants in the general solution of a differential equation of fourth

order are:
(A0 (B)2 ©)3 (D) 4

We know that the number of constants in the general solution of a differential equation of order
n is equal to its order.
The number of constants in general equation of fourth order differential equation is 4.

Thus, the correct option is D.

Question 12:
The numbers of arbitrary constants in the particular solution of a differential equation of third
order are:
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(A)3 (B)2 ©1 (D)0

In a particular solution of a differential equation, there are no arbitrary constants.

Thus, the correct option is D.
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EXERCISE 9.3

Question 1:
Form a differential equation representing the given family of curves by eliminating arbitrary
constants ¢ and b.

.)_€.+..}_;_=l

a b

£+__‘r’=]

a b
l+ld_y_0
a bdx
1 1
—_——t— .-r:()
a b}

:>|D+l =4

bJ’
.4
=—y"=0
b
=y"=0

Thus, the differential equation of the given curve is »" =0.

Question 2:
Form a differential equation representing the given family of curves by eliminating arbitrary
constants ¢ and 5.

= a(b2 —xz)

yz =a(bz _xz)

— Ey% = a(—2x)

=2y =-2ax

= ' =-ax

=y y+y'=-a
r2+ K _

_ W) W'

»w —ax
" 2 !
= xp"+x(y) -3 =0

Thus, the differential equation of the given curve is " +x(y') -y’ =0
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Question 3:
Form a differential equation representing the given family of curves by eliminating arbitrary
constants ¢ and b.

y=ae’ +be™*

y=ae* +be™
y'=3ae’”™ —2be™ (1)
" =9ae™ +4be™ ..(2)

Subtracting (1) from (2)

V' =y =9ae™ +4be** —3ae™ +2be™

V' -y =b6ae™ +6be™

V'-y=6 (aeh +be )

y'-y =6y ( P be‘z")

y'-y'-6y=0

Thus, the differential equation of the given curve is ¥'—» =6y =0,

Question 4:
Form a differential equation representing the given family of curves by eliminating arbitrary

constants ¢ and b.
y=e¢"(a+bx)

y:ezr(aerx)

¥y =2e"*(a+bx)+e*b

=y =" (2a+2bx+b)

V' —2y=e"(2a+2bx+b)-e’" (2a+2bx)

= ' -2y = be™ skl
= 3" =2y =2be** ..(2)

Dividing (2) by (1)
y' -2y
y'=2y
=y'-2y'=2y'-4y
=y"=4y'+4y=0

=2
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Thus, the differential equation of the given curve is ¥'—4)'+4y =0,

Question 5:
Form a differential equation representing the given family of curves by eliminating arbitrary

constants ¢ and b.

y=e"(acosx+bsinx)

v =¢*(acosx+bsinx)

V' =e"(acosx+bsinx)+e" (—asinx+bcos x)

=y =e [(a +b)cosx = (a —b}sin .r]

=3y = [(a +b)cosx—(a—b)sin x] +e* [—(a +b)sinx—(a —b)cosxj
V' =e"[2bcos x—2asin x|

¥" =2e*(bcos x—asin x)

= %=e"(5003x—asin,\c)

"

X ty=e (bcosx—asin x)+e" (acosx+bsinx)

y+§ = e”[(a +b)cos x—(a —b)sinx]

T
=>}+f)—}

=2y+y"' =2y
=1"-2v"+2y=0

Thus, the differential equation of the given curve is »"'—2)'+2y =0,

Question 6:
Form the differential equation of the family of circles touching the y-axis at origin.

Centre of circle touching the y-axis at origin lies on the x-axis.

Let (“10) be the centre of the circle.

Since it touches the y-axis at origin, its radius is a.

Equation of the circle with centre (4.0) and radius a is
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(A:—a)’3 +y*=a?

= x*+y° =2ax <L)

&
Y.

Differentiating equation (1) with respect to x, we get:
2x+2y' =2a
=x+y' =a

Putting the value of @ in equation (1)
=>x'+y =2(x+y')x

= 2xyy'+ xt= y2

Question 7:
Form the differential equation of the family of parabolas having vertex at origin and axis along

positive y-axis.

The equation of the parabola having the vertex at origin and the axis along the positive y-axis
18
x* =4ay (1)
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e
Y.

i

Differentiating equation (1) with respect to x, we get:
2x =4day’
2x _4ay’

¥ day
2y
===
x ¥
= xy' =2y

=xy'-2y=0

Question 8:
Form the differential equation of the family of ellipses having foci or-axis and centre at origin.

The equation of the family of ellipses having foci on the y-axis and the centre at origin is as
follows:
2 2

X Y
=1 e il
b2+a2 ()

Il.:“'E
“...n‘

Y'Y
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Differentiating equation (1) with respect to x, we get:
2x " 2yy ~0

e 2

b a’

x
jb_2+ a2 30 (2)

Differentiating equation (2) with respect to x, we get:

1 V4 py"

1YYy

b” a’

TP (y'2+vy"):0
b2 2 -

o

=

=L (" +»")

2 el
h- a-

Substituting this value in equation (2) , we get:

= x[—%(};‘f - yy")}r 'VJf' =0
a a

= —xy” —xy"+yy'=0
= xpy"+xp” =3 =0

Question 9:
Form the differential equation of the family of hyperbolas having foci on x-axis and centre at
origin.

The equation of the family of hyperbolas with the centre at origin and foci along the x-axis is

2

x2 ¥y
‘f?-'-a?' 1 (I)

e
Y.

YUY
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Differentiating equation (1) with respect to x, we get:
2x 2w'
b—2 —

0

Differentiating equation (2) with respect to x, we get:
i+‘v PERY 4

9 2

b” a

1 __yYy+y)

b2 aZ

Substituting this value in equation (2) , we get:

7

a

."r_ I'.|. e " 5!
J{_}y J.V}_&zo
ol

=0

Xt 5 4 n Y
[y +ryy'-=5
e l

= chfz +xy" =y’ =0
= xy"+x7 -3’ =0

Question 10:
Form the differential equation of the family of circles having centre on y-axis and radius 3

units.

Let centre of the circle on y-axis be (0.5).
1 +(y—b)3 =3’
= x> +(y-b) =9 (1)
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e
T..

Y'Y

Differentiating equation (1) with respect to x, we get:
2x+2(y-b)y'=0
=(y-b)y' =-=x

= (y—b)=—>

r

J}
Substituting this value in equation (1) , we get:
2
4 [_—?J =9
¥

::>x2[1+ l 2}=9
(»)

=2 (V) +1]=9(v)

Question 11:
Which of the following differential equations has ¥ =¢¢" +¢,¢ " as the general solution?
d’y d’y d’y d’y
+y=0 +y=0 ~+1=0 ——1=0
N (B) dv (C) v’ (D) dx*
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y=ce +ce”

=5 zy =ce —ce”
X
d’y . .
:?zc,e' +ce”

Thus, the correct option is B.

Question 12:
Which of the following differential equations has Y =X as one of its particular solution?

d*y ,dy d’y dy
- =4xy= —— XXy =
(A) a0 B) & ax O
d’y ,dy dy dy
—=Xx —+xy=0 —+x—+xy=0
©) dc ax D) & dx 2
L
dx
2
=
Therefore,
d;{—xzd—y+xy:0—x3.]+x.x
dx dx
=—x*+x?
=)

Thus, the correct option is C.
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EXERCISE 9.4

For each of the differential equations in Exercises 1 to 10, find the general solution:

Question 1:
_.c_fiv_' _l—-cosx

dx l+cosx

dy _1-cosx
dx l+cosx
7 X
2sin” —
Q— 2 _tan2 X
dx 2005EJE 2
2
= S=(s31)
dx 2
X
=dy= (seca lex

Integrating both sides, we get:
jdl I(bec — }dx
= y= J sec’ = Idx

::>y=2tan5—x+C

Question 2:

%=\J4—y2 (—2<y<2)

Integrating both sides, we get:
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= y=2sin(x+C)

Question 3:
dy
—+y=1({y=l1
R (y=1)
Solution:

dy
—+y=1(y=1
—+y=1(y=1)
= dy+ ydx = dx
=dy=(1-y)dx
$i=dx
L3

Integrating both sides, we get:
dy
ﬁz]dx
= —log(y-1)=x+logC
= —logC-log(y-1)=x
=5 —DogC+10g(y—l)] =%
=logC(y-1)=—-x

=C(y-1)=e™

:>y—]+ie""
C

= y=1+A4e™" '.Js.fherf:A=i
C

Question 4:
sec’ x tan ydx + sec” y tan xdy = 0

Solution:

sec’ x tan ydx + sec” ytan xdy = 0
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Dividing both sides by tanxtan y
% sec’ xtan ydx +sec’ y tan xdy 3 0

tan xtan y tan xtan y

sec’ x

sec’
de+2 Y gy = 0
tan x tan y
2 2
sec” x sec
do=—2
tan x tan y

Integrating both sides, we get:

sec’ x sec’ y
=— y zaal
J. tan x a -[ tan y b ( )
Let tanx =1¢
= i(tan x) = ﬁ
dx dx

. dt
—seCT X =—
X

= sec” xdx = dt

Now,
[ ge— [Lar
tan x t
=logt
= log(tan x) .(2)
Similarly,
sec’ y
dy =log(t sila
[ dy = log(tan ) (3)

Using (1), (2) and 3)
= log(tanx) = —log(tan y)+log C

= log(tanx) = log(t b }
an y

-

— tanx =

tan y
—tanxtany=C

Question 5:
(e" +e" )dy —(e" - e"’)dx =0
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(ex +e_x)dy~(e" —e_")dx= 0

=5 (e“ +e"")dy = (efr —e"")a’x

:>a'y=[€x _e_x“a’x

e +e

Integrating both sides, we get:

jd;:jt:}dx (1)

Putting these values in equation (1) , we get:
1
dy=|-dt+C
J ly -[r 1+
=5 P= Iog(.{) +C

=% log(ex +e”")+C

Question 6:
Do (142) (14 2?)

%:(1+,r2)(1+y2)
dy 2
= 1+‘;2 =(1+x')dx

Integrating both sides, we get:

| “T-"Ezj'(uf)a:x

1+ y

:mn'1y=fdx+Jx2dx
3

- X
=tan" y=x+—+C
X
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Question 7:
ylog ydx —xdy =0

ylog ydx—xdy =0

= ylog ydx = xdy
dy  dx
ylogy x

Integrating both sides, we get:

ke (1)

ylog y

Let logy =t
d dt
= —(lo =—
a,y( gy) >
1 _adt

y o dy

1
= —dy=dt
¥

Putting these values in equation (1) , we get:
dt ¢dx
[ '[ X

= logt=logx+logC

= log(log y) =log Cx
= logy=Cx

— y - e(.'.t

Question 8:
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a'x__y
dy dx
¥ £
d—f+if:0
x y

Integrating both sides, we get:
07
X V

= j.x""’dx+jy"5dy =k

4 4

=X +2 ¢
4 —4

= xt+yt=—4k

=>x'+y"=C  (where C=-4k)

Question 9:

IR sty
dx
£y =sin”' x
dx

= dy =sin™" xdx

Integrating both sides, we get:
jdy = Jsin" xdx
= y= J(sin“‘ x.l)alx

= y=sin" x.j(l)dx—jﬁ-j—x{sin-' x)j(l)dxﬂdx

= y=xsin™' x+J
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= — =—
dx dx
= —2x:£
dx
:>xdx‘=—la"f
2

Putting these values in equation (1) , we get:

|
= y=xsin" x+ | —=dl
y=xsin_ x J2\/t_
1 -l
-
= y=Xxsin x+~2—I(I)3dI

1
2
— = = )
= y=Xxsin x+5. 5 +C

2
= y=xsin" x+t+C

y=xsin"' x+V1-x*+C

Question 10:
e* tan ydx + (1 —e*')sec2 vdy =0

e tan ydx + (1 e ) sec” ydy =0
(1 —e )sec:2 ydy = —e* tan ydx

Integrating both sides, we get:

sec’ y -
dy = dx sl
I tan y 4 Il—e" ( )
Let tany=u
d du
Y t = ——
::-dy( an y) &

2 du
= sec’ y=—o
dy

= sec’ ydy =du
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Integrating both sides, we get:
sec’ du
e gy e
tan y H
=logu
=log(tan y) i 2]

Now, let (] - el\') =k

d . dt
E(l_e)“dx
. dt
= —¢ =—
dx

(3)

Using () (2) and
= log tany) ( )+logC
= log tany) [ l—e ]
:>Lany=C(] e)

For each of the differential equations in Exercises 11 to 14, find a particular solution satisfying the
given condition:

Question 11:

X+t +x+l)—= il =2x"+x;y=1
dx when x=0

(x3 +x° +x+l)d—y:2x2 +x;y=1

dx
dy 2 +x
dx (x3+x2+x+l)
- 2x" +x %

(x3+x2+x+l)

Integrating both sides, we get:
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3 2X° +x
Jd'lf_'[(3c3+;»c2+x+])abc )

2x% +x A Bx+C
= -
Let (x+l)(x3+l] x+1 X’ +1

(2)

2%% +x Ax* + A+(Bx+C)(x+1)
= = -
(Jc+l}(,vc2 +1) (x+])(x‘ +1)
=2x  +x=Ax* + A+ Bx* +Bx+Cx+C
= 2% +x:(A+B)x3 +(B+C)x+(A+C)

Comparing the coefficients of x* and x, we get:
A+B=2

B+C=2

A+C=0

Therefore,

PR |
2 2 and 2

Substituting these values in (2) , we get:
2% +x 1 1 1 3x 1)
e +—
(x+l)(x2+l) 2 (x+1) 2(x’+])

Hence, equation (1) becomes:

=3 g5 o

1 3 X X
=—1 +1)+= | —dx—— d
¥ zog(x ) 2Jx?-+| 24 x? +1 g
1 3¢ 2x 1 .
=Elog(x+1)+—fl‘2+]dx~5tan 'x+C
=l_2tog(x+1)+3log(x2+1)}—ltan 'x+C
4L 2
17 2 3 1 .
=—|log(x+1) +log(x*+1 ]——tan lx4C
1“ 2 2 3 1 § ~
:Eilog(xﬂ) (x +1) J—gtan "x+C

Now, ¥=1 when x=0
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:lzilog(l)—%tan" 0+C

::>1=l><0—l><0+C
4 2

=€ =1

1 (s 01y ]-La
Thus, y—4|:log(x+l) (x +I) 2t.an x+1

Question 12:

Integrating both sides, we get:
1

dezjmcfx (1)

1 A B C
I e e e eer I
— 1 _ A(x—1)(x+1)+Bx(x+1)+Cx(x-1)
x(x=1)(x+1) x(x=1)(x+1)
- 1 _(4+B+C)x* +(B-C)x-4
x(x-1)(x+1) x(x-1)(x+1)

Comparing the coefficients of x* and x, we get:
A=-1

B-C=0

A+B+C=0

Therefore,

A=—1,B=1 c-1
2 and 2


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

Substituting these values in (2) , we get:
1 -1 1 1

D) (x+1) % 2(z-1) 2(x+])

—

Hence, equation (1) becomes:

[av= j afx+— —arx LY L

29 x+1

:>y=—logx+§log(x—l)+Elog(x+l)+]ogk

Now, ¥=0 when x=2

$0=%log{k1(z—1)(2+1)}

4
=>10g(3i“)=0

2
3k
4
=3k’=4
ey s
3
Thus
| -4(x—1)(x+l)
=—1
4 zog_ 3x°
[4(x> =1
L )]
2 3x
| _4 (xz—l)
= —log| ~.
20g 3 X
—l]o X~ —llo 4
e 3 By
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Question 13:

cos[j—y]=a(a €R); y=1

X

[d})]
cos| = |=a
dx
d
=% _cos'a
dx

when x=0

= dy =cos”' adx

Integrating both sides, we get:
de =cos ' aIdx
= y=cos ax+C

= y=xcos 'a+C

Now, ¥=1 when x=0
=1=0.cos"' a+C
=C=1

Thus,
Y =XCOS
y—1
X

= COS[y———]) =da
X

b

= =cos'a

Question 14:

C—iy——’tanx' =1
dx + Y= When x=0

dy

— =ytanx

o y

jd—y=tanxfix
¥

Integrating both sides, we get:
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dy _
JT = Itan xdx

= log y =log(secx)+logC
= log y =log(secx.C)

= y=Csecx

Now, ¥=1 when x=0
= l=Cxsec
=2 ]

= C=1

Thus, vy =secx

Question 15:

Find the equation of a curve passing through the point (0.0) and whose differential equation

is y'=e'sinx

y'=e'sinx
dy . .
=Y _ esinx
dx

= dy =e" sinxdx

Integrating both sides, we get:
de = _[e" sin xdx
yzj.e"sinxdx (1)

Let I= Ie‘ sin xdx
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= | =sinx|e*dx— i sinx).| e*dx |dx
1
ax

— ] =sinx.e” —J-cosx.e“dx

= [=sinxe" —[cos xfe‘“dx —I[di(cos r)j e"dx}dx}
Iy

= [ =sinx.¢e” —[cos)ﬁ?fT —I(—stn x)gxdx]
= J]=e¢"sinx—e " cosx—/
=521 =e“{sinx—cosx)

e’ (sin x—cosx)
2

==

Substituting this value in equation (1) , we get:

e e* (sin xz— cosx) .

Since, the curve passes through (0.0) , we have:

e’ (sin O—COSO]
=0= +

1(0-1
:>0——(O )+C

2
1
=C=—
2
Thus,
e (sinx— cosx) 1
== +—

2 2
= 2y =¢"(sinx—cosx)+1

= 2y—1=e"(sinx—cosx)

= 2y—1=¢"(sinx—cosx)

Hence, the required equation of the curve is 2¥ ~1=¢’ (sinx—cosx)

Question 16:

y 2 o (x+2)(p+1)

For the differential equation ¥ e . Find the solution curve passing through the

point (1,-1),
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Iy
w%:(,ﬂz)(wz)

:b[ v Ja‘y:(x+2]dx
y+2 2

Integrating both sides, we get:

IP-sao=i(+3Je

:4@_4))13@:]@”;%

= y-2log(y+2)=x+2logx+C
= y=-x-C=logx’ +log(y+2)3

S GO log[xz(wz)z]

Since, the curve passes through (1L-1) , we have:

=1-1-C=log| (1)'(-1+2)’ |
=>-2-C=logl
=-2-C=0

=C==2

Thus, *'~ et [x_ (7+2) } is the required solution of the curve.

Question 17:

Find the equation of a curve passing through the point (0.-2) given that at any point(x .¥) on
the curve, the product of the slope of its tangent and y-coordinate of the point is equal to the x-
coordinate of the point.

Let x and ¥ be x-coordinate and y-coordinate of the curve, respectively.

We know that the slope of a tangent to the curve in the coordinate axis is given by the relation,

dy
dx

Therefore
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dy
= y.—=
Yoo =%

= ydy = xdx

Integrating both sides, we get:

Jydyzjxdx
z%zéﬂf

=iyt =t =0C

Since, the curve passes through (0,-2) , we have:
=(-2)"-0*=2C
=2C=4

Thus, »* —x" =4 is the required equation of the curve.

Question 18:
At any point (x.7) of a curve, the slope of the tangent is twice the slope of the line segment
joining ate point of contact to the point(‘4* -3). Find the equation of the curve given that it

passes through (-2.1),

(x.%) is point of contact of curve and tangent.
y+3
Slope (m) of segment joining (x.7) and (-43) is x+4

We know that the slope of a tangent to the curve in the coordinate axis is given by the relation,

dy
dx .

dy
Therefore, slope (m) of tangent is dx .

Since, ™, =2m,

:;ﬁ: 2(y+3)
dx x+4
dy 2dx
= —=
y+3 x+4
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Integrating both sides, we get:

dy dx
jy+3_2jx+4

= log(y+3)=2log(x+4)+logC
= log(y+3)= Iog(f(x+4)2
= y+3=C(x+4)

Since, the curve passes through (-2.1) , we have:
=1+3=C(-2+4)’

= 4=4C

=C=1

Thus, ¥ *+3=(*+4)" is the required equation of the curve.

Question 19:
The volume of spherical balloon being inflated changes at a constant rate. If initially its radius
1s 3 units and after 3 seconds, it is 6 units. Find the radius of balloon after ¢ seconds.

Let the rate of change of volume of the balloon be £.

B
dt

= i[iﬂr3]= k
di\ 3

= i:’r.Srz.ﬂ =k
3 dt

= 4drridr = kdt

Integrating both sides, we get:
j4m‘2dr = Ikdt

3
i4m%=h+c

= 4rr’ =3(k£+ C)

At t=0,r=3
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$4frx2?=3(kx0+C)
= 1087 =3C
= (C =36z

Now, at t=3,7=6

= 4rx6’ =3(kx3+C)
= 864r =3(3k +36rr)
=3k =288n —-36m =252n
= k=84n

Hence,
41 =3 [84:1.-5 + 36?:]

4rr’ =4m (63t +27)
r’=63t+27

1
= (631‘ +27)3

1
Thus, the radius of the balloon after # seconds is (63H 27)3 .

Question 20:
In a bank, principle increases continuously at the rate of #% per year. Find the value of 7 if X

100 doubles itself in 10 years. (log, 2=0.6931)

Let 7. and 7 represent the principle, time and rate of interest respectively.
The principle increases continuously at the rate of 7% per year.

dp r

= = —
dt [IOOJpI
p 100

Integrating both sides, we get:
Ja}) _F

p 100

rt
=logp=—++Fk
&P =100

Bl
= p=e®
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It is given that » =100 when t=0

Therefore,

= 100=¢"

Now, if £=10 then p=2x100=200

Hence,

r+k
200 = e°
=200 =¢!0 ¢

=200 =e'.100

¥

el =2

r
=—=log 2
]0 gi

= 06931
10

=r=6.931

Thus, the rate of interest, » =6.931%.

Question 21:
In a bank, principle increases continuously at the rate of 5% per year. An amount of 1000 is

deposited with this bank, how much will it worth after 10 years. (enlj = ‘648)

Let p and t be the principle and time, respectively.
The principle increases continuously at the rate of 5% per year.

jd—p=5%xp
dt

dp 5
===
dt (l(}(}jp

__r
dr 20
_ dp _dt
p 20

Integrating both sides, we get:
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Jﬁzi di
p 20
t
=logp=—+C
8P=%

b

= p=e¥
Now, p=1000 when =0

Therefore,
— 1000 = ¢

Now, at t=10 and ¢“ =1000

10
—+(

= p=e?

= p=e" xe

= p=1.648x1000
— p=1648

Thus, after 10 years the amount will worth X1648.

Question 22:
In a culture, the bacteria count is 1,00,000. The number is increased by 10% in 2 hours. In how

many hours will the count reach 2,00,000, if the rate of growth of bacteria is proportional to
the number present?

Let y be the number of bacteria at any instant ¢.
Rate of growth of the bacteria is proportional to the number present.

dy
=—0C

i 7

dy
===

dt @
=5 @ = kdlt

y

Integrating both sides, we get:

L
jy k[ dt
=logy=kt+C
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Let Yo be the number of bacteria at 1 =0.
= logy,=C

= log v =kt +log y,

= logy—logy, =kt

= log['—yj =kt
Yo
= kt= log[lJ
Yo

Since, the number of bacteria increases by 10% in 2 hours.

- 110

=—1

) 100)9
)2__]]

Y HI_O

Taking log on both the sides
y 11
= log| — |= log[—]
[yn } 10
=kt =log(£} " log Y =kt
10 Mo

Now, let the time when the number of bacteria increases from 1,00,000 to 2,00,000 be %

Therefore, ¥ =Yo at £ =1
Hence,
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2log?2
log[gj
Thus, in 10 ) hours, the number of bacteria increases from 1,00,000 to 2,00,000.

Question 23:

dy _— x+y
The general solution of the differential equation dx “ s
(A) e"+e' =C B) e'+e' =C
(C)er+e'=C (D) e +e’ =C

% =e¢"V =¢"e

@ _
e’

=e'dy=e'dx

e"dx

Integrating both sides, we get:
je‘-"dy = J.e'“dx

=>-e’'=e +k

=e +er =—k

+eV =C (where, C =—k)

Thus, the correct option is (A).
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EXERCISE 9.5

In each of the Exercises 1 to 10, show that the given differential equation is homogeneous
and solve each of them.

Question 1:
(x3 +1y)c{v = (x2 +y3)air

¥ +xy)dy=(x*+y*)dx
(o +v)dy = (

dy x’+)

X +xy

can be written as:

2 2
Xty
F(x,y) - x4+ xy

2 v\ 2 T
Flanay)= ) D) x4y
(Ax)" +(Ax)(1y) X +xy
Equation is a homogeneous equation.
Let y=wx

=A"F(x,y)
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dy dv
—_ +x_
dx dx

v x +(vx)2
Vhx—=—F—
dx  x*+x(vx)

dv  1+v*
= Vv+x—=
dx  1+v

dv _1+v (1+7) =v(1+v)

de 1+v 1+v

- 2—l+v)dvz
I=»

: _1)@:
1-v x

= —2log(1-v)-v=logx—logC

dx
X
4

=

= v =-2log(1-v)-logx+logC

C

Question 2:
_x+y

W

X
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j@zx-ky
dx X
X+y

F(x.y)= .

F(Ax,Ay)= lx;xly = x:y =AF(x,y)

Equation is a homogeneous equation.

Let y=wvx
d)
i L
dx dx
dv  x+wx
V+Xx—=
X
=Dv+x—=I1+v
x@:l
dx
=dv=—
X
dx
= |ldv=|—
Jav=]=

v=log|x|+C
L= log|x|+C
x

= y=xlog|x|+Cx

Question 3:
(x—y)dy—(x+y)dx=0

(x—y)dy—(x+y)dx=0

B EA) (1)
dx x-y

x+y

X=Y

_ Ax+Ay _XxX+y _ Z“F(x,y)
Ax—=Ay x-y

Equation is a homogeneous equation.

Let F(x,y)=

o F(Ax,Ay)
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& d
s

S
dx dx

dv x+vx l+v

V+x—= =
dx x—vx 1-v

v l+v 1+v—v(1—v)

E_l—v_ 1-v
v 1+v?
= x—=
dx  1-v
N l—v2 dv=@
(1+v) X

1 dx
:[ 2 vzjdv=_
1+v 1+v X

tanlv—%log(l+v2)=logx+c

B 2
= tan”'| 2 —llog 1+[Z] }zlogx+C
x} 2 X
1 .2 2
= tan ! 2 ——log a +2y }=10gx+C
x) 2 | X
all Y 1 2 2 2] _
= tan = —E[log(x +y )—logx ]—logx+C
|y 1 2, .2
=tan | = |= —log{x" + +C
~|=loe(x* +57)
Question 4:

(x2 —yz)cbr+2xydy =0

x*—y? )dx+2xydy =0
(x*-7)

=>d_y__(x2__."2)

dx 2rv
Let F(x., y] = —7(-7(“2;;‘ )
F(ﬂ.x, Ay) _ |V(;2L)(c‘)l-x_]{ii:;~ ‘l _ _(X;x;y_) — }L“f"(x,y)

Given differential equation is a homogeneous equation.
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Q_ d
= U]
dy dv
— i ACEL T, il
x dx
st | ¥ -8
dx 2x,(vx)
v v -1
V+x—=
dx 2v
dv Vv -1 Py
= X—= -V =
dx 2v 2v
—(1
ﬁxﬁ: (+v)
2v
2])2@’1»*:—ﬁ
14v X

= log(1+ v3)= ~logx+logC = logg
be

=1+v =—

Question 5:

xzﬁ=x2 —2y% +xy
dx

Solution:

xzd—yzxz -2y +xy

dy x* =2y +xy
dx x*

2 z
Lk F(x,y):x—?ﬂ

Ax) =2(Ay) +(2x)(2 gy
.'.F(ﬂ.x,}»}’):( %) ~2{A) :F( 2)(Gy)_z 2V T 30 (x.)
(2x)’ ¥
Given differential equation is a homogeneous equation.
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dy dv
===y x—
e elx
=
e x? —2(vx)q +x [vx)
0 X

=Iog‘x‘+C

5

NG

x+\5y‘ i
=1 C
205 8oy~ el

=log‘x‘+C

"o R e

Question 6:

xdy — ydx =/ x* + ydx

Solution:
xdy — ydx =\ x* + y*dx

= xdy=[y+ﬂ‘x2+y2]dx
d_y_ y+ \/_7c2+y2

dx x
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A N l A N
s F(Ax,Ap)= ( x)+ ( - ( y N . it i =1"F(x.y)

Given differential equatlon i1sa homogeneous equation.

Lety=wx
dy _d
e L,
:\>Q:v+xﬂ
dx dx
:>v+xdv VX + 4/ x° +(vx]
x
:>v+xﬂ:v+\!1+v2
dx
&
1+v? X
log v+ V1+v*|=log|x|+log C
y / y:
= log|=+,/1+=|=log|Cx|
X X

yalx®

=log|Cx|
x

= log

= y+4xt+y* =Cx?

Question 7:

({22 (2

(2 22
o )l
) el

® =

==
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Let F(x,y) =

.

{res( e[}
{2

S F(Ax, Ay)=

{l). cos[ +lysin(’1y]}ly chos[y]+ysin(y]}y
Ax L X X B

Given differential equation is a homogeneous equation.

dv (xcosv+vxsin v).vx
v+x—=
dx (vxsinv—xcosv)x

2 .
dv  vcosv+visinv
= v+x—=

YSIN vV —COSv

dv  vecosv+visinv
=x—= - —v
dx vSin v —cosv

2 - 2 -
_ dv  vecosv+v sInvy—v sinv+vcosy
& _

VSINV—COSV
dv_ 2vcosv
dx vsinv—cosvy
vsin v —cosv 2dx
= dv:—
Y COS v

:(tanv——]dv—%

X

v X

log (secv}—logv=2log x+logC

log[ ]_ log{Cx)

:(secvjzcxz
v

= secv=Cxv

x
= sec(lj =Cxy
x
= COS[Z] S i
x Cxy xy

(22222

A°F(x,p)
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Question 8:

xQ—y+xsin[l]=O
dx X

Solution:
xi—y+xsm( J 0

|'=

= ——y xsin

X
y
y— xsm[—)
Y. PO ¥ 7
dx X

y—xsin[f}
Let F(x,y) = —
Ay—lxsin(%] y—xsin(f}
S F(Ax,Ay)= T = . =A1°F(x,)

Given differential equation is a homogeneous equation.
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Y _ 4 (1)
dx dx
W Y
dx
VX —xsimnv
v+x—=

= V+x—=v—sinv
dx

dv dx

= P it

sinwv X
dx
= cosecvdy = ——
x

log |cos ecv—cot v‘ =—logx+logC =log &
x

= cosec [Zj-col [X] = (—
X X X
&
1 _cos[x}_g
sin[z] sin(ij ¥
5 S
::»x’rl—cos(Zﬂ:Csin(ij
X X

Question 9:

—

ydx+xlog[yjdy—2xdy:0

x
Solution:

ydx+xlog(ijay_2xdy=o
X

=>y¢b€=[2x—xlog[y]]dy

X

Ly

d 2x—x]0g(zj
x

Let F(xp) =¥
2x—xlog[z}
X

Ay

Y

B AR AY)=

2(1x)—(2x) log(%] i 2x—xlog(

Y
x

)

=A°F(x,y)
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Given differential equation is a homogeneous equation.

Lety=vx

3 VX
dx  2x-xlogv

dv v
=Sv+x—=
dx 2-logv

dv v
=>x—=
dx 2-logv

dv  v—2v+vlogy

==
dx 2—-logv
dv  viogv—v

> X—=————
dx 2-logv

2—-logv v dx

v(logv —1) x

| 1riztogn) ], _ar
| v(logv-1) x

= 1 _l dv—ﬂ
v(logv-1) v X

———logv=1 logC
jjv(logv—l) ogv =logx+log

Let, logv—-1=t¢
d dt
= —(logv-1)=—
wosr=l) =2
1 dt
= —=—
v dv
:@:dt
Vv

:J%—logv:logxﬂogc


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

j_l%(cx)

Y
= log log[%} }—Iog[ }—log((‘x)
el )|

= log

= i[Iog [Z)— IJ =Cx
Y% X
= log[ZJ—l =Cy
b 5

Required solution of the given differential equation.

= log? —log[

Question 10:

[1+ey]dx+e-" [1—£]dy=0
y

1+’ dr+e;(1—£]dy=0
Y
=|1+e” dx=—e}(l—£]dy
y
_gx[f__{]
dx ¥y

= —= .
dy ;

1+e’

=l =
S
Let F(x,y) WO .

X

I+e”
i) 5

S F(Ax,Ay)= ¥/ 2 AF(x,y)
1+e™ I+e*

Given differential equation is a homogeneous equation.
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Let x=vy

d d
=4 (x)= ()

dx dv
=>—=v+y—
dy dy
- ﬁ —e (] V)
dy I+e"

dv —e" +ve”
dy 1+¢"

dv —e +ve' —v-ve'

= y—=
ydy 1+e"
dv {v—%e‘l
=YV —=- ;
dy l+é'

i{l-ke‘ld":_@
vte y
=% log(v+e")=—]ogy+]0gC

C
| V= log| =
= 0g(v+e) og[y]

g 2| &
= =+e¥ |[=—

X

= x+ye-.“ =i

For each of the differential equations in Exercises from 11 to 15, find the particular
solution satisfying the given condition:

Question 11:
(x+y)dy+(x—y)dx=0; y=1 whenx =1

(x+y)dv+(x—y)dx=0
= (x+y)dv=—(x-y)dx

2y, ey
dx x+y

=

Let /(x,y)= ﬂ

x+y
‘ -(Ax=21y) —-(x-») .o,
S (Ax Av) = = e £ S N &
(Andy) Ax+Ay X+y (%)

Given differential equation is a homogeneous equation.
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d‘p -(,x—vx)
V+X—=—
dx x4 vx
dv v-1
SVtX—=——
v+1

_ v _vel  v-lov(vtl)

dx  v+1 v+1
dv v-1-v*—v "(1+V2)
= X—= =
dx v+ 1 v+1
v+]9 cfv:—ﬁ
1+ x
= L = l = «:fvz—ﬂ
1+v l+v X
1 5 b
—log{l+v jJ+tan v=—logx+k
Slog (1+v7) g

=¥ log(l+v2)+2tan 'v="2logx+2k
:>log[(1+v2)x2]+2tan"v:2k

2
::»longer,, ]x3}+2tan‘1232k
%

=% log(x2+y2)+2tan 1Y =9
X

Now,y=latx=1
= log2+2tan"' 1=2k

:>10g2+2x%=2k

:%Hog?_ =2k

_]__]_-/'-:

log(x3+y:)+2tan .

T
—+log?2
5 g

Question 12:
xzdy+(zy+y2)dx=0;y=1 when x =1
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xzdy+(xy+y2)dx= 0
=% dy= —(xy-i- yz)dx
o J A

dx x
~(+)

0

F(x,y)=

. ) [}Lx‘lwa(/ly)?] ~ —(xy+y3] e
s F(Ax,Ay)= 7 = (/'Lx)z =A°F(x,)

Given differential equation is a homogeneous equation.
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=L (=L
:—y=v+x@
dx
v —[x_m(vxﬂ )
v+x—= =—v—v
dx x
3x—v=—v2—2v=—v(v+2)
dx
dv :_@
v(v+2) x
31 2 o =_§
2_v(v+2) x
1 (v+2

11 1 ch
=== dv=——
2lv v+2

1
= 5[logv—log(v+2)] =—logx+logC

:llo d =lo 9
2 & v+2 gx

:>C1=l
3

y 1

y+2x 3
= y+2x=3x"y
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Question 13:

[xsil‘t2 (-}—)—yﬂdx+ xdy=0; y =% when x =1
X

Solution:

[.\:sin2 {X - yﬂdx +xdy =0
x
, et
=% s

dx X

s b 1

. {Axsinz {%)—&v} ) —{xsin{%]*k}

=A°F (x,
. . (x.5)
Given differential equation is a homogeneous equation.
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Lety=vx

d d
= N y)= E(Vx)
=Y _gea?
dx x
v+xiv' _ —[x5111“v—w]
dx X

dv

:‘>1r+x—=—[sin2 v—v} =y—sin’v
dx

av . 2
= x—=-sin"v

dx
dv  dx
sin’ v x

, dx
= cosecdv=——
x

= —cotv = —log|x|—logC

= cotv =log|x|+log C

= cot [ZJ =log|x| +logC
X

= cot (XJ =log|Cx]
X

y=E atx=1
4

= cot (%] = 10g‘C'|

= 1=logC

= (=g =g

cot [1] = log|ex|
%

Question 14:

d_y_1+cosec[£]:0;y=0 whenx=1
dx x %
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—y—z+ cosec(i)zﬁ
dx  x X

d
jl:zﬁmsec[zj
dx x X

Let F(x,y) = Y _cosec [ij
X X

s F (l.r, fl}’) = % —cosec [%J = i— —Co8 ec(%) = A°F (x,y)

Given differential equation is a homogeneous equation.
Lety=wx

s =
cosecy X

. dx
= —sinvdv = —
x

= cosv =log x+log C = log|Cx]

= COS[Z] =log|Cx|
x

y=0atx=1
= cos(O}:logC

=C=¢=¢

cos{ £ =t ex)

Required solution of the given differential equation.

Question 15:
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2xy+y2—2x2%:0

2 & _ 2xy + y*

dx

dy 2xy+y°

dx 2x?

= 2xy+ vy’

’ 2x’

2(2Ax) (}Ly] + (/'LV‘V)2 _ 2xy+y°
2(Ax)’ o2

Given differential equation is a homogeneous equation.

= 2x

Let F(x,

W F(Ax,Ay)=

= }L”F(x, y)
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Lety =wx

=—(y)=—
2 (1)=2 ()
& _
= ——=y+x—
ax dax
2

Ly 250 ()

dx 2

v 2v+yv?
= V4+X—=

dx 2

dv v
S V+X—=V+—

dx 2
:>£2a‘v:E
v x

~241
:>2._2+I=log\x|+C

= —gzlog|x‘ 0
v

= _2_x :Iog‘x{+C
Yy

= =log|x|+C

y=2atx=1

= —1=log(1)+C

=C=-1

:—Ezlog\x[—l
y

-

:‘>§=l—log‘x‘
y

2x
=V

] :Wg‘xl,(xi(}.x;ee)

Question 16:
dx

X

]
A homogeneous differential equation of the form @V [}’]can be solved by making the
substitution
(A) y=wx
(B) v=px
(C) x=w
(D) x=v
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dx h[ 5 ]
For solving homogeneous equation of form d)’ Y J, we need to make substitution as X =Vy

Thus, the correct option is C.

Question 17:
Which of the following is a homogeneous differential equation?

(A) (4x+6y+5)dy—(3y+2x+4)dx=0
B) (w)dx—(x"+)")dy=0

©) (x3+2y3)dx+21gvdy=0

(D) Ydv+(x* ~xy* =) )dy=0

F(x.7)is homogeneous function of degree n, if £ (A%.Av)=2"F(x.y) for non-zero constant

(4),

Consider equation given in D:
yidx +(x —xy’ =y’ )dy 0
dy -y

== 5 ] 5 5 2
dr P-xy*-y Y+t
v:!
F %5 = - E) e
(52 =
2
F(Ax,Ay)= - _(,w_) -
Ay) +(Ax)(Ay) —(Ax)
= /12}’
A’ y2+.1y -3 )
== 0
y? +xy -x’
_ UF(x y

Differential equation given in D is a homogeneous equation.
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EXERCISE 9.6

For each of the differential equations given in Exercises 1 to 12, find the general solution:
Question 1:

ﬁ+2y =sinx
dx

dy s
. . . . —+2y=sinx
Differential equation is dx

dy

_-|— o .
This is in the form dx py=0 where =2 and Q=sinx
[.F.= eIM = eIM =e**

y(IF)=[(@x1F)dx+C

= ye't = jsin xedx+C

Let, I= Isin xe™

= I'= Isin x.J e dx — -[[di (Sin x) .jehdx}h
dx

el

Ix ix
. e [
:>I=smx.-——_|- cos x. x
2 2

,Zx s
st e & ST s cosx.jez" _-[(di (cos_r)"'.ehdx]dx}

X

.4 LA 2x 2x
=] = e ;ml _%-cosx‘j%—I|:(—Sinx)-%:|dx:|

e*sinxy e cosx |
=>]=— = —I(sin xe™* )dx
2 4

2x

:>I:e4 (2sinx—cosx)~lr
- )zx
s & g (2sinx —cosx)
4 4
2x
=>I-_~e_ (2sin x - cos x)
5

2x
x

ye ™t = %(ZSinx—cosx) +C

=)= -;— (2sinx—cosx)+Ce™
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Question 2:

d—y+3y=e_2"'

dx

Solution:

d_y + = Q
Differential equation is dx o

(where, p=3and Q=¢™")

N L L
y(ILF)=[(QxLF.)dx+C
= ye’' = I(e_h x e’ ) +C
= ye'* :Ie*derC
=y =¢e"+C

> y=e> +Ce™

Question 3:
Q_E_Z:xz’
dx x
Solution:
dy

— + =
A 0

[where,p = H and Q = xl)
%

1
LF.=el™ =eI?& =% =y

y(IF)= [(Qx LF.)ds+C
=5yr= Jl(xz.x)dx +C
= yx= j-x'?ait S

4
+

= w=—+C
B

xsl

= xy=—+C
V=G
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Question 4:

dy
— +(sec =tanx| 0<x <
dx (secx) x( =

SR
N

Solution:

dy
— 4 =
R )

(where, p =secx and O = tan x)

pebx sec vy log ( sec x-+tan
I,F,zeI :ej- @ = gl _ ger x4+ tan x

y(1F)=[(QxI.F)dx+C

= y(secx+tanx)= Itan x(secx+tanx)dx+C
= y(secx+tanx)= Isecxtan xdx+_[tan2 dx+C

= y(secx+tanx)= sccx+j(seczx—])cbf+C

= y(secx+tanx)=secx+tanx—x+C

Question 5:

coszxg+y=tanx 0<x<Z
dx 2

Solution:

cosgx-al+y=tanx 0<x<ZX
dx 2

@i+ y _ tanx

dx cos’x cos’x

dy 2 2
= —+(|sec x)y=sec x.fanx
o (55 3)

=

dy
— =
L 0

(where,p =sec’ x and Q =sec’ x.tan x)
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J. pelx J.secz xelx

L= =g =gt
y(1.F)=[(@x1.F.)dc+C

= ye™* = j(secz x.tan x.et“”)dx+C
= ye™* =" (tanx-1)+C

= y=tanx—1+Ce""”

Question 6:

ch—“]/'+2y=x2 log x
Ay

Solution:
dy 2
x—+2y=x"logx
R Y g

:Q+3y—xlogx
dx x

dy
— 4} =
7 TRy Q

(where,p = 2 and QO = xlogx]

X
Lol e_l-P‘b‘ =ef;dx _ e’zlogx _ e]ogxz .
y(1.F) = [(OxI.F)dx+C

= yx’= j(xlog x.xz) dc+C
= I(f log x)dx+C

= x’y=log xjx3dx - J‘{%(Iog x)_[ x3cbc}ix+ 4

4 4
= x’y=log x_%—][%%}ix+(f

4
». Xlogx 1p 4
=ty ——|xdx+C
4 4 4I
4 4
By iE 1 o
4 4 4

:»xzyzix“(fillogx-l)-%(?

= y=%x2(4logx—l)+ Cx™?
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Question 7:

dy 2
xlogx—+y=—logx
X P - g

Solution:
dy 2
xlogx—+y=—logx
dx ¥ X 5
W, Y 2

de xlogx x°

ly
—F =
dxpr

[where p= and Q0 = 37]
xlogx X

Pl
IF.= ejpdx = eJT’g’dx = 8 _ o0
V(ILF)=[(Qx LF)dx+C

s ylogxzj(%longcix+C
(oo et
:z:1ogx_j%dx_j{%(logx).j;_zdr}c&]
-G

of towr 1 dx]

_ _logx_l}
r X

2
= Sfucd
x( +log x)

vlog x = —g(l +logx)+C
X

Question 8:
(1 + x° )a’y + 2xydx = cot xdx (x # 0)


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

Solution:
(I +x2)"3’+ 2 xydx = cot xdx

dy  2xy cotx
g _

dx (l+x2)_(l+x2)

d 5 1
£+Py:Q [where,p—ﬁ andQ_(lcz_;)]
1x

J Bl SR il )

=1+x>

zy(l"'xz):_l‘[lcjt;x(l+x2)]dx+c
:>y(1+xz):-[00txdx+c
= y(1+x2)= log]sian+C
Question 9:

&y
xdx+y x+xpcotx=0(x=0)
Solution:
xd_y+}f—x+xyco‘[x=0(x?‘__0)
dx
ja,_y*l—l+y(:0tx=0

ax X

X

:ﬁ+}’[l+cotx)—1=0
dx

= d—y+[l+cotx]y=1
dx \x

d—y+py =0 [where,p = (l+cotxJ and O = 1]
dx x
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il efpdx _ e_“i Icotx:]d’f _ E]c»g:—lng(sinx] _ elug{xsin.v) = wuiiis
y(1F)=[(QxLF)dc+C
= y(xsinx)= j(lx xsinx)dx+C
= y(xsinx)= j(xsinx)cit+(7
: . d .
= y(xsinx)= x_[sm xal — I[E(x).I51n m{r} +C

= y(xsinx)= x(—cosx)—fl.(—oosx)dﬂ('
= y(xsinx)=-xcosx+sinx+C
—-XCcosx  sinx (d

= i ek
xsinx  xsinx Xxsinx

1
=D y=—colx+—+—
X Xxsinx

1
= y=—-cotx+—
x xsmx

Question 10:

a'y)
x+y—|=1
[ Y
Solution:
dy
x+y)=—=1
(oeok3) =
L]
dx x+y
:»ﬁ—;wy
dy '
ﬁﬁ—x—v
o ]

Put in form ﬁ+ DX =0,
dy

(where,p] =-land Q, :y)
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LF.=el? = fet =ev
y(I,F) :I(Qi Xf.F.)d.r+C
=8 7 ZJ(J"-L’ y)dy-i-(:

> xe” =y [evdy-| {%( »).f e‘-"dy]aj/ +C

) e‘,"' e_.‘\.
S M —[| = |ay+cC
R J)[ 1 } _‘-[ =1 J 4

=>xe” =—ye” +[e?dy+C

3](6‘ ¥ :—ye y_e'_1'_+_C
= x=~y~1+Ce”

> x+y+l=Ce’

Question 11:
ydx+(x—y2)a'y20

Solution:
ydx+(x=y" )dy=0

ﬂ)*’dx—(yl—x)dy:o,

d_y'-x_ x
dly v ¥y
dx x
= —4==y
dy 'y
dx
_+p]x=Q]

Put in form dy

(where, P = 1 and O, = yJ
y

1
O ejpla!" = Ie;d! = elOg-" =¥

y(I-F)zj(Q1X1-F.)dx+C

:>xyzjy3dy+c
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:>xy=}—+C

3
Sx=2 &
4

Question 12:

(x+3y3 )%: _y(y > ())

Y _ )
(x+3y )ﬂd:r—_}

ﬂﬁz Y -
dc  x+3y
:>£=x+3yw:£+3y
dy ¥ y
Xy
dy y
dx
—+px=0,

dy

[where, p = —l and Q, = 3},]
Yy

dv

1

IL.F :ej.’ﬂwfv p .[ ¥ oo e—iog__v :elogj- _

|

Y(LF)=[(Ox L.F)dx+C

ﬁxxl: [3}»’><ljdy+C
¥ y

=2=3y+C
v

= x=3y"+Cy

For each of the differential equations given in Exercises 13 to 15, find a particular solution satisfying
the given condition:
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Question 13:

-@+2ytanx=sinx; Jf':li)v\r*h:::nx:E
dx 3

Solution:

d—y+2ytanx=sinx
dx

dy
—~ 4 —_
g Q

(where,p =2tanx and Q =sin x)

LE =™ ool o W) _ o2
y(1F)=[(QxLF)dx+C

= y(sec® x) = j(sin x.sec’ x)dr+ By

= ysec’ x= j(secx. tan x)dx + C

= ysec’ x =secx+C

ia
=Qatx=—
Y 3

OXSECEE:SGCE‘FC
3 3

=0=2+C
=.E=-2
ysec’ x =secx —2

2
= V=00SXx—2C08" X

Question 14:

1
(l+x2)%+2xyzm; y=0whenx=1

Solution:

|

1+ x?
2 ]

:»d—y+ xyzz 2

dx 1+x (1+x3)

(l+x2)%+2xy=

dy
— + f——
WL L o

2x 1

x? a1l 0= (1+x2)2

where, p =
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P
¥ —dx +x2
!.F.=ej-m =eL”’“ =emg{I )=1+x2

y(!.F):J(Qx I.F)dx+C

:>y(1+x2]=j (l+x2)2 .(1+x2) dx+C
:by(l+x2)=jl+lx2 dx+C

= y(l+x7)=tan™ x+C  ..(1)

y=0atx=1
:C:—E

y(l+,1c2)=tan"1 x—%

Question 15:

—q)—)—3ycotx:sin 2x; y=2 when x e
dx 2

Solution:

ﬁj}--—.%ch:ot:c =sin2x
dx

dy _
dx+py—Q

(where, p = -3cot x and Q = sin 2x)

b= EIM _ e--fijcmxcix - e—j log|sin x - e!og:xinx| :

y(I1F)=[(QxI F)ds+C

=5 ‘]3 :I[sinh‘, ‘13 }dx—i-(_'
sin’ x sin” x

= ycosec’x = 2j(cot xcosecx)dx+C

=> ycosec’x =—2cosecx +C

2 C
=4 C 3
cosec x  cosec x

= y=-2sin’ x+Csin’ x

=g
lsin” x| _
=€

log !

1
sin’ x
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yz2Mx=£

2
2=-2+C
=C=4
y=-2sin’ x+4sin’ x

= y=4sin’ x—2sin’ x

Question 16:
Find the equation of a curve passing through the origin given that the slope of the tangent to

the curve at any point (%.7) is equal to the sum of the coordinates of the point.

Let F(%,7)pe the curve passing through origin.

ay
At (£ ], slope of curve will be dx

Q:ery

dx

dy
A
dx 4

dy
— 4 —
i py =0

(where, p=—1and O = x)

1F. = ej-mt = eﬁ_mft =e™?

y(1F) = [(OxL.F.)ds+C

= ye " = jxe""dx +C

= ye " = x_[ e dx— J‘|i—j—x- (x) I e"‘a’x}bc +C

= ye =—xe™* +Ie"‘dx+ 2
= ye " =-xe " + (~e_x ) +C
= ye* =—e*(x+1)+C

= y==(x+1)+Ce"

= x+y+l=_Ce"

Curve passes through origin.
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1=C

=>x+y+l=¢

Question 17:

Find the equation of a curve passing through the point (092) given that the sum of the
coordinates of any point in the curve exceeds the magnitude of the slope of the tangent to the
curve at any point by 5.

F(x,%)be curve and let (¥¥)be a point on the curve. Slope of the tangent to curve at (%)is

L0,
dx

ﬁ+S=.vc+y

dx

dy
= ——yp=x-5
dx >

dy
— 1 | —
ol 0

(Where,p =-land Q0= x—S)
ILF = ef‘;m = ejt I e "
y(ILF)=[(QxIF)dx+C
= ye* = J-(x —5)e dx+C

I(x —5)e “dx =(x- S)Ie “dx — J‘L]i (x— 5)_J‘e' *’dx}!x

(e ) fe )
=(5-x)e" —(—e")
=(4- x)e "

= ye "z(fl—x)e *+C

Curve passes through (0,2)
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0+2-4=C.0

=-2=C
=C=-2
x+y—-4=-2¢"

= y=4-x-2¢"

Question 18:

xﬁ —y=2x"
The integrating factor of the differential equation  dx
1
(A) e (B) ¢” (©) x (D) x
dy "
Xy =2x?
X TY=2x
= y_y =2x
dx x
i{}i + i Q
dx Py
[where, = L and O = 2x]
X
! -1
S LF. = e‘i_*'dr = % :ek'g'[" ) = 5! :i
X

Thus, the correct option is C.

Question 19:

. . . . . (1—y2)£+wf=ay(—l>y<l)
The integrating factor of the differential equation dy

1 1 1 1

(A) ¥ -1 (B) V' -1 (C) 1-»° (D) N1-V°
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Solution:
(l—yz)ﬁ+yx=ay
dy

a'x+ o ay
dy 1-y" 1=’

dx
E* px=0

=

(where, 12 =$ and O, = lf))}»z}

¥V

oy
Iplafi' =32 203. ¥ e N -

LIF.=e = 7 =e

Thus, the correct option is D.
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MISCELLANEOUS EXERCISE

Question 1:
For each of the differential equations given below, indicate its order and degree (if defined).
d’y dy !
=~+5x|— | —6y=lo
() ax’ T(afx] PR

3 2
(ﬁ] -4 (ﬁ] +7y=sinx
(ii) dx dx

dy . (dy
(iii) P Sm[ | L

d’y
) =+35
(1) dx”
d’y

2
dx”

dy
x|—=—| —-6y=Ilo
(d] g
+5

dy *
x| — | —6y—logx=0
r(dJ y gx

=

d’ ¥y
Highest order derivative present in differential equation is dx’ . Its order is two.
d’ y
Highest power raised to dx’ is one. Its degree is one.

3 2
[@j -4 [Q] +7y=sinx
(ii) dx dx

ﬁ(ﬁ) -4 [d—}J +7y—sinx=0

dx dx
dy
Highest order derivative in differential equation is x . its order is one.
dy
Highest power raised to «x is three. Its degree is three.

dy . (d’y
i) o’ _Sm[dx” ¥
dy

Highest order derivative in differential equation is dx* . Order is four.
The given differential equation is not a polynomial equation. Degree is not defined.

Question 2:
For each of the exercises given below, verify that the given function (implicit or explicit) is a
solution of the corresponding differential equation.


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

 xy=ae +be " +xF d y+2@—,w+x -2=0
(1) dx
. y=¢€(acosx+bsinx) d;“:—2d—y+2y=0
(i1) dx dx
d*y

_ y=xsin3x . —5+9y—6¢083x=0
(iii) dx

2 2 . 2 2\ Y .
(iv) x =2y logy : (x +y )Exm—xy—O
 xy=ae +be " +xF d y+2@—,w+x -2=0
(1) dx

xy=ae' +be”™ +x’ (1)

(i)

Differentiating both sides with respect to ¥, we get:

xﬂi#v.] = a%(e"')+b~:—x(e"")+i(x2)

Again, differentiating both sides with respect to ¥, we get:
Ay dy dy
dx dx dx
d’y

582402V _ e v be 12 .(2)
dx’ dx

=ae" +he" +2

dy+2d—y—xy+l -2=0

Now, we have dx*  dx

d*y .dy

LHS =x

= ae’ +be” +2—(ae* +be™ +x7 ) +x7 -2 [using (1) and (2) ]

—X

—ae® +he 4D get = be t—gF 4t =D
=0

= RHS

Thus, the given function is a solution of the corresponding differential equation.

y=e"(acosx+bsinx) %—2%+2y =0
x
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X

y=e (acosx-l-bsinx) (1)

Differentiating both sides with respect to ¥, we get:

y=e"(acosx+bsinx)=ae" cosx+besinx

:>ﬂ= a.i(er coS x)+b.i(e" sin x)
dx dx dx !

:ﬂ: a(e‘T cosx—e" sinx)+b(e*' sinx-+e" cos x)
dx

:>ﬂ—(a+b)e'fcosx+(b—a)e"sinx (2)
e

Again, differentiating both sides with respect to x, we get:

dzy d g, d( ..
:F:(Hﬂb)g(e cosx)+(b—a)a(e smx)
j;v =(a+ b)‘(e"' cosx—e” sin x) +(b —a)(e"' sinx+e* cos x)
d’y : :
:>d_,\:)3:e [(a+b)(cos x—sinx)+(b—a)(sinx+cosx)]

-
&

S J : . : :
= 3 =e [acosx—asmx+bcosx—bsmx+bsmx+bcosx—asmx—acosx]
2

prd

i “sz@"(bcosx—asinx) w:(3)
2

=

d’y dy
K W
Now, we have dx* dx

2
LHS =22 2% 15,
dx” dx
=2¢" (b COS X — asin x)—z[(a +b)e*cosx+(b—a)e” sinx} +2e* (acos x+bsin x)

[using (1), (2) and (3)]

=e" [(2!_: cosx—2asin x) —(2acosx+2b cosx)—(?.h sinx —2asinx)+(2acos x +2bsin x)]

=e* [2b cosx—2asinx—2acosx—2bcosx—2bsinx+2asinx+2acosx+2b sinx]
= e*[o]

=RHS
Thus, the given function is a solution of the corresponding differential equation.
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2

y=xsin3x : -i%+9y—6cos3x=0
I

(111)
y=xsin3x (l)

Differentiating both sides with respect to x, we get:

= 'y i(,afsin 3x)=sin3x+x.cos3x.3
dx dx

dy .
= —=sin3x+3xcos3x
dx

Again, differentiating both sides with respect to x, we get:

%:%(sin3x)+3%(xcos3x)
d*y :
= ,=3¢os3x+3[c053x+x(—sm3x).3]
dx—
2
= i{zﬁcosBx—‘)xsian (2)

d’y
Now, we have dx’

+9y—6c0s3x=0

2

LHS =27 19y _6cos3x
dx

= (6 cos 3x —9xsin 3x) +9xsin3x—6¢cos3x [using (]) and (2)}
=0
= RHS

Thus, the given function is a solution of the corresponding differential equation.
x'=2y"logy : (x2+y2)££-)i—xy=0
(1v) ' dx

x> =2y"logy ..(1)

Differentiating both sides with respect to x, we get:
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:>2x=2dix[y2]0gy]

dy 1 dy
=x=|2vlogy—+y'.—.—
[y Byt " dx]
:br.:@(Zylogery}
C o dx
. A E— ..(2)

dx  y(1+2logy)

i

+yt)=——xy=0
Now, we have ()b # )dx &

4 2, oy
LHS _(A +y )d—x—xy
X
y(1+2logy) R
x
y(]+2log_}=)_

= (Zy2 log y + yl)_

[using (1) and (2)]

=y2(l+2|ogy). xy

=Xy—Xy
={

= RHS
Thus, the given function is a solution of the corresponding differential equation.

Question 3:

2 12
Form the differential equation representing the family of curves given by (x—a) +2y°=a
where a is an arbitrary constant.

(x—a)' +2y7 =4’
= x* +a’ —2ax+ 2y’ =a*

=5 2y* =2ax—x* il 1)

Differentiating both sides with respect to x, we get:
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:>4y%:2a—2x

x
Dﬁ=2a—2x

dx 4y
dy  2ax-2x*
===
dx 4xy
2 0 s 3
2Q:M I:from(l), Zax:2y2+x2:|
dx 4xy
d 2_ 2
LAy _2y-¥
dx 4xy

ﬂ B 2}}2 _x2
Thus, the differential equation of the family of curves is given as dx 4xy

Question 4:

2
&

2 3 o 2 2 . . . . .
Prove that * =7 _C(x +y) is the general solution of differential equation

(x3 -3’ )dx = (y ' -3x’y ) 4y where c is a parameter.

(x3 - 3xy3)dx = (y3 - 3x2y)dy
dy x* —3xy°
ia_ys_?)xzy (1)

This is a homogeneous equation, to simplify it, let y =vx

d d
3;()’) ZE("-‘C)

:f'}-‘zv-i-xéi (2)
dx dx

Using (1) and (2)


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

"
“

dv x'—3x (vx)

=Sv+x—= ;
dx  (wx) —3x" (w)
dv 1-3v*
= VHx—=—
¢ v —3v
dv 1-3*
= X—=— —v
dx v =3v
v I—3v2—v(v‘°’—3v)
g -
dx v —3v
dv  1—-v*
= X—=—
dx v -3v
3_
¥ :ivdv=@
| Y %

Integrating both sides, we get:

3_
::»I V]_;v v =log x +logC’ ..(3)

v =3y Vv vy
ijkl—v" dy_"‘]—v4_3-[]—1;‘1

A PRI EY, 4
:’I 1 S ( )

3
[where, I8 =_[]v—d1: and /, =I vdv4 ]

v 1—-v

Let 1—v*=¢
Therefore,
=2 (1)L
dv dv
=4y’ = 4
Vv

dt
=S Vvidy=——
4

Now,
= |-
4t
I
=——log?
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Let v’ =p

Therefore,

I-p

Using (4), (5) and (6)

EE

14+v°
1—v?

Using (2) and (7)

] 49

1 3
—Zlog(] —v4)-—z log —

a3
1 a\[ 1+v° .
= ——log|{1- —| |=logC'x
4 g{( Y )[]*v“]] &

=logx+logC’
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1-v

3 3
= —ilog[(l—vz)(] +v2)[_] +v2 J ]log(?'x

(] +v2) :((,"){)_4

Y

Taking square root on both sides

:>(x2—y2)=C'3(x2+y:)2

2

:(xf_y3):c(x3+y2} (where, =)

Question 5:
Form the differential equation of the family of circles in the first quadrant which touch the
coordinate axes.

Equation of a circle in first quadrant with centre (4,a) and radius (¢) which touches coordinate
axes is:

(x—a) +(y-a) =d* (1)

Ll a1

Differentiating both sides with respect to x, we get:
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:bZ(x—a)JrZ(y—a)%:U

= (x-a)+(y-a)y'=0
=(x—a)+p'-a'=0
= x+y/ —a(l+)")=0

x+ '

=a= .
1+ y

Substituting this value in equation (1) , we get:
e X+ yy | e x+yy _[xtw
1+ | 1+ 1+y'

[Tl

= (x —y)2 P +(x- y)2 =(x+ yy')z
= (x=3) [14(7)" |= (x4 )

(=) [1+0) [= G aY
Hence, the differential equation of the family of circles is 3 Y ) —(x Yy )

Question 6:
d_y+ =) : =0
Find the general solution of the differential equation dx V1-x*

@4_ l_—-}’;zo

dx Vl—x

& _ oy
dx VI-x?

dy dx

- \/l—y2 :_\/l—x3

Integrating both sides, we get:

=sin” y=—sin" x+C

=sin"' x+sin” y=C
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Question 7:

dc xXix+l

d ¥
Ay (yrr+l
dx x +x+1
dy _ dx
e T | e G|

dy+y‘+y+1_0

Integrating both sides, we get:
J- dy J~ dx

V4y+l dxl+x+l
:>J' dy :_j' 056
3 2 2
[ 1)2 V3 ( 1Y (V3
y+— | + Eh— | W2
T2 2 2 2
y+ ! x+ :
2 1 : 2 2 =] 2
= —tan = ——tan +C
J3 J3 3 J3
2 2
T2y+1 [2x+17 3¢
= tan +1 =—
e N
i 2y+l 2x+]
= tan™ V343 =\/§C
0 (2y+1) (2x+1) 2
V3B
2x+2y+2
= tan™' V3 =\/§C
. (4xy+2x+2y+1) 2
- 3

H yiy+l g
Show that the general solution of the differential equation dx x*+x+1

(x+y+1)=A(1-x=y=2x9) \where A is parameter.

is given by
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2x+2y+2

= \E =tan E
lm(4xy+2x+2y+1) 2
3

2x+2y+2

= V3 =C, [where, b =tan[f£ﬂ
2

3—(4xy+2x+2y+1)

i 3
J3(2x+2y+2)

3-(4xp+2x+2y+1)

=203 (x+y+1)=C,(3-4xy-2x-2y-1)
=23 (x+y+1)=C,(2-4xy-2x-2y)
:>2\@(x+y+l)z('..’lx2(1—-2.~qv~x-y)
:>J§(x+y+l]:(71(l—x—y—2xy)

1

:>(x+y+l)=%(l—x—y—2xy)

=(x+y+1)=4(1-x—y-2xp) [whereA:C'}

S

Question 8:
(i

Find the equation of the curve passing through the point ( : 4J whose differential equation is
sin xcos ydx +cos xsin ydy =0

sin x cos ydx +cos xsin ydy =0
sin x cos ydx +cos xsin ydy
COS X COS -
= tan xdx + tan ydy =0

0

= log(sec x)+ Iog(sec y) =logC
= log(secx.sec y)=logC

=secx.secy=C

T
The curve passes through the point [ 3 4)
Therefore,
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:>1x\/§=C
:>C=~/5

secx.secy =2

—> sec.Xx. 1 =2
cosy

SCCX

V2

=cosy=

Question 9:

Find the particular solution of the differential equation (

v=1when x=0.

(] +ez")dy+(l +y2)e"'dx =)

dy2+ d =0
I+y 1+e”

Integrating both sides, we get:

= tan™' y+jle e = (1)

)
+e*

Let e =t =™ =¢*

d.\_dt
2 ()%
dt

dx
= e'dx=dt

o

Substituting this value in equation (1) , we get:

dt
tan' y+ =
¥ '[l+12

=>tan~ y+tan ' t=C

= tan ' y+tan' (e") =0

When x=0; y=1

Hence,

]+e2")dy+(l+y2)e"'dx:0

, given that
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tan'l1+tan'1=C

LA,
4 4
:>C=£
2
tan~ y+tan” (&) =2
Thus, ¥ (e) 2

Question 10:

ye” dx :{xe; +° de (y#0)
Solve the differential equation .

Let e; =z

Differentiating it with respect to y, we get:

df ) _d
dy dy

fd[x] dz
e —|— |=—

dy\y) dy
y@—x
et a’yj _dz
y dy
dz
= —=1 ﬁ'OH‘I 1
7 [rom ()]
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Integrating both sides, we get
= Z= yp+l

X

::=e; =y+C

Question 11:

Find a particular solution of the differential equation (x—y)(dr+dy)=(dx—dy ), given that
y=-1 when x=0. (Hint: put Xx—y=1)

(x—y)(ch— a'y)z(dx—dy]
= (x—y+)dy=(1-x+y)dx

@_]—x+y
dx x—-y+]1
]_ — 1
oy _1-(-y) o)
dx  1+(x-y)
Let X— Y=t ...(2)
:>i(x—y)=£
dx” dx
::»I—d—y:ﬂ
dx dx
T ..(3)
dx  dx

Using (1), (2) and (3)
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_dt (1+2)—(1-1)

dx 1+1¢
dt 2t

= — =
de 1+t

ﬂ(li]d‘:&i‘(
t

1
:>(I+;]dr = 2dx

Integrating both sides, we get:
— £+10g‘!‘ =2x+C

= (x—y)+loglx—y|=2x+C
=% log!x—y‘ =x+y+C

When x=0; y=-1
logl=0-1+C
= C =1
loglx—y|=x+y+1

Question 12:

24x
Solve the differential equation |: Vx ‘E} Y

Ay ey
dx \/; \/;
dy y e
== 4=
dc Jx  Jx

This equation is a linear differential equation of the form
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dy 1 e
= ipy= P=— Q=
dx & Qwhere Jx and \/;

1
JPLI’.\' ” e‘l'\.'_\dr _ 82\;;

Now, [.F.=e

The general solution of the given differential equation is given by,
y(LF.)=[(@xL.F.)dx+C

= yezJ; = J‘{e\;: x eV }L(—F C

- 1
= ye** = J.—a’x +C

5

= yehﬁ; =2Jx+C

Question 13:
dy

. . . . ) . —+ycotx=4xcosecx(x =0
Find a particular solution of the differential equation dx 2 ( )

y=r
¥=0 when 2

, given that

dy
— + ycotx =4xcosecx
dx

This equation is a linear differential equation of the form

dy
Dy py=
dx y=0 where P =cotx and Q = 4xcosecx

Now, I.F.= e}- e ejwm{r = & = gin x

The general solution of the given differential equation is given by,
y(LF)= [(Qx I1.F.)dx+C

= ysinx = I(4xcosecx.sin x)dx+C

:>ysinx=4jxazx+c

:>ysinx=4.-x5+(7

= ysinx=2x*+C
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x—E' =0
When 3.}

Therefore,

-

—~0=2x"_+C
4

2

i
=>(C=——
2
2
. T
ysinx =2x> ——
Thus,

Question 14:

Find a particular solution of the differential equation
x=0.

(x+ l)d—y =27 -1
dx

dy dx
—_ —
2¢ " -1 x+1
- e'dy :i
2—-¢” x+1

Integrating both sides, we get:

e'dy
jz_e-" =log|x+1|+logC (1)
Let2—¢" =t
=L (-)=2%

dy dy

R

dy

= —e'dy=dt

Substituting this value in equation (1), we get:

dvy
_|.] i 5
(x )dx

=2¢7 -1

, given that ¥ =0 when
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= I_Tdt = loglx+1‘+log(‘

= —loglt| = Iog’C(x+ l)‘

=% —log‘z—e” = IogiC(x+l)|
= 2—13-" =C{x+1)
=2-¢' = :

C(x+1)

When x=0; y=0

Therefore,
:>2—1:i
C
=C=1
Hence,
1
2-¢’ =
x+1
=g L
x+1
L 2x+2-1
=S el =
x+1
L 2x+1
=
x+1
]
:>y:]0g2x+‘ (x=-1)
x+1

Question 15:

The population of a village increases continuously at the rate proportional to the number of its
inhabitants present at any time. If the population of the village was 20,000 in 1999 and 25,000
in the year 2004, what will be the population of the village in 2009?

Let the population at any instant (£) be» .
It is given that the rate of increase of population is proportional to the number of inhabitants at
any instant.
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logy=kt+C

In 1999, =0 and ¥ = 20000
log 20000 = C

In 2004, t=5 and ¥ =25000
log25000=k.5+C

= log 25000 = 5k + log 20000
=5k = log[MJ = log[ij
20000 4
1 5
=k =—log| —
5 °g(4]
In 2009, ¢ =10 years

logy=10x élog(%] +1log(20000)

2
= logy= Iog[20000x[%] ]

=5 3 = 20000 % 2% 2
1A

= y=31250

Therefore, population of village in 2009 is 31250.

Question 16:
ydx — xdy _0
The general solution of the differential equation y is

(A) xw=C (B) x=Cy’ (C) y=Cx (D) y=Cx’
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ydx — xdy ~0

¥y
_ ydx — xdy ~0

Xy

1 1
=>—dx——dy=0

x X
log|x‘— log|y‘ =logk

X

= log|—|=logk

= p=0y (where, = %]

Thus, the correct option is C.

Question 17:

The general solution of a differential equation of the type % HiE=g is
© x.el o I(Q] eJ- % jdy +C
( e

dx
—+Px=0, ;
LF. for dy ' "is ejﬁd'

x(1.F)= (J'QI x I.F.)dy +C
x.e'[ﬂ‘# = I(Q,ej h ]dy +C
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Thus, the correct option is C.

Question 18:

The general solution of the differential equation € dy +(ye’ +2x)dx =0 ig
(A) xe' +x* =C (B) xe’ + y'=C

(C) ye' +x'=C (D) ye' + % ={]

e"a’y+(ye"' + 2x)dx =0
=>e’@+ye" +2x=0
dx

d _
=2, y=-2xe"’
dx

This is a linear differential equation of the form

D py .
& Qwhere,P=1and Q=-2xe”

Now,

LF.=™ — o o
y(LF)=[(Ox LF)de+C
= ye' = J(—2xe “e" )dx+C
= ye' = —I2xcix +C

= ye' =—x"+C

= ye" +x* =C

Thus, the correct option is C.
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